Day9: - Finding The Vertex of a Parabola DATE:

Sometimes we are given the quadratic function in the form y =ax” + bx+c . Thisis called
standacd Focm . We need to convert it to the form y=a(x —h)’ +k toidentify the
\ecte x . The method we use is Com;zlefh‘ ng the quare.

- Find the value of “c” that will make each expression a perfect square trinomial. Remember a
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factor out the x.
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Add the two constants together.
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1. Convert y =ch + 2x)+ 5 to the form y =a(x —k)* +k and state its vertex.
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2. Convert y=x* —6x—4 to the form y=a(x -h)* +k and state its vertex
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3. Convert y=x*+4x+3 tothe form y=a(x —A&)* +k and state its vertex
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| Homework: p. 270 #3beg, 4ac, 6a, 7ace, 8bc, 19
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